ﬂssignment

Properties of Logarithms()

=

10.

11.

12.

Basic Level

logab —log| b|=

(a) loga (b) log| al

The value of (log2; 4) is

(a) -2 (b) (-4)

The value of log; 4log, 5logs 6logg 7log; 8logg 9is
(a) 1 (b) 2

log, log, \/7(\/7\/7) =

(a) 3log,7 (b) 1-3log,7

The value of 8100953 4 27'%9% | 3%/97° i5 equal to
(a) 49 (b) 625

7 Iog[%} +5 Iog(%) +3 Iog(%) is equal to

(a) o (d) 1

If log, 5=aand log; 6 =b, then log, 2 is equal to

1 1
b
2a+1 (b) 2b+1

If log, x.logs k =log, 5k =1,k >0, then x is equal to

()

1

(a) k (®) —

5
If log; a.log, X = 2, then x is equal to
(a) 125 (b) a?
If a® +4b? =12ab, then log(a + 2b)is

1 a b
(a) E[Iog a+logb—-log2] (b) log ) + log 7 +log 2
If A=log, log, log, 256 +2log ; 2,then A is equal to

(a) 2 (b) 3

If log,, X =y, then log,o x” is equal to

(@) y° (b) 2y

(9]

(9]

(9]

(9]

(9]

(9]

(9]

(9]

(9]

(9]

(9]

(9]

—loga

3

1-3log, 2
216

log 2

2ab+1

25

%[Iog a-+logb+4log 2]

(d) None of these

(d) None of these

[IIIT Allahabad 2000]

(d) 4

(d) None of these

(d) 890

[EAMCET 1990]

(d) log3

(d)

2ab -1

(d) None of these

(d) None of these

(d) %[Iog a—logb +4log 2]
[WB JEE 1992]

(d) 7

2z
@ =
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

If x =log,(bc),y =log,(ca),z =log,.(ab), then which of the following is equal to 1
(@) X+y+z M A+t +@A+y) T +@+2)T () w2z

If a=log,,12,b=log4; 24 and c = log,g 36, then 1+abc is equal to

(a) 2ab (b) 2ac (c) 2bc

If a* =h,bY =c,c* = a then value of xyz is

(a) o (b) 1 (o) 2
If logx:logy:logz=(y—2):(z—x):(x—y) then

(d) None of these

(d o

(d) 3

(a) xYy*z*=1 (b) x*y¥z* =1 (c) {/;W%/;zl (d) None of these
log, 2 —logg 2 +10g,5 2 —....t0 o0is [MNR 1994; Roorkee 1994; MP PET
2000]
(a) e? (b) In 2+1 (c) In 2-1 (d) 1-In2
If log,, 2 = 0.30103, log,, 3 = 0.47712, the number of digits in 3" x 2° is
(@ 7 (b) 8 (© 9 (d) 10
89
Zlog3(tan r°)
r=1
(a) 3 (b) 1 () 2 (d) o
Zilog . (a)
2.2
(a) @Ioga 2 (b) @log2 a (@ 0D 00 a (d) None of these
Which of the following is not true
(a) log(l1+x)<x forx >0 (b) 1X <log(1+x) for x >0 (c) e*>1+xforx>0 (d) e*<l-xfor x>0
+X
The solution of the equation log, Iogi—,(\/x2 +5+x)=0 [UPSEAT 2000 (S.E.)]
(a) x=2 (b) x=3 (c) x=4 (d) x=-2
log, 18 is
(a) A rational number (b) An irrational number (c) A prime number (d) None of these
I 0.1+0.01+0.001 +......
The value of (0.05)0%%(  is
(a) 81 (b) L (c) 20 (d) L
81 20

If a, b, c are distinct positive numbers, each different from 1, such that

[log, alog, a—log, a]+[log, blog. b —log, b]+[log, clog, c —log, c]=0, then abc =



26.

27.

28.

29.

30.

31.

32.

(@)1 (b) 2
If logy, 27 =a then logy16 =
3-a 3-a
a) 2. b) 3.
@) 3+a (®) 3+a

1
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If n=1983!, then the value of expression

(a) -1

If logx logy logz
b-c c-a a-

(b) o

(a) xyz =1 (b) x%Pz° =1

+ +
log,n logzn log,n

o then which of the following is true

(o 3 (d) None of these
[EAMCET 1990]
3-a
(o) 4. (d) None of these
3+a
! + e +—l is equal to

1091953 N

(c) 1 (d 2

(C) Xb+cyc+aza+b =1 (d) Xyz = Xaybzc

X

If x, >X,_4 >.. > X, >X, >1then the value oflog, log,, log,, ... log, x,*1 is equal to

(a) o (b) 1

The number of solution of log,(x +5)=6—x1is

(a) 2 (b) o

(c) 2 (d) None of these

() 3 (d) None of these

The number of real values of the parameter k for which (log,s x)* —log, X +log,s k = 0 with real coefficients will

have exactly one solution is
(a) 2 (b) 1

E(Iog3 x)2+log3 ><—E
If x4 4 = /3 then x has
(a) One positive integral value

(c) Two positive rational values

(c) 4 (d) None of these
(b) One irrational value
(d) None of these

Logarithmic Inequalities()

33.

34.

35.

36.

37.

38.

Basic Level )

If x =log;(1000)and y =log,(2058) then
(a) x>y () x<y

The number log,, 3lies in

11 11
@ (53] ® (53]
1
+ > X, then x be
log; # log, 7
(a) 2 (b) 3

(c) x=y (d) None of these
1 3 3 4

©[33) @ ($%)

(c) 3.5 (@ =

If Iogl/ﬁ sinx >0,x €[0, 4x], then the number of values of x which are integral multiples of % is

(a) 4 (b) 12

(o) 3 (d) None of these

The set of real values of x satisfying log,,,(x* —6x +12)> -2is

(@) (-=2] (b) [2,4]

The set of real values of x for which 2%

>X+51is

(©) [4+) (d) None of these
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39.

40.

41.

42.

(a) (o —Du(d,+x) (b) (4,+x) (©) (-1,4) (d) None of these

Advance )

Solution set of inequality log,,(x* —2x -2)<0is

(a) [-1,1-+/3] (b) [1++3.3] (©) [-11-+4/3)U@++3,3] (d) None of these
1

If 2 <logy, x < 2then........

1

V10

(a) The maximum value of x is 1 (b) xlies between % and

V1o

1

J10

If logg o, (X —1) > log,,(x —1) then x belongs to the interval

(c) x does not lie between %and (d) The minimum value of x is %

(@) (@ 2] (b) (~o0,2] (©) [2+) (d) None of these
The set of real values of x for which log,, x+2 <lis
(a) (— 0, —%}U(O&oo) (b) {%+ oo) (©) (—o0,—2)U(0,+x) (d) None of these

*k*%
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